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Version A

2. Determine if the polygons are similar. Defend your answer
using algebra and appropriate vocabulary.
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Version A

2. Determine if the polygons are similar. Defend your answer
using algebra and appropriate vocabulary.
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Version A

2. Determine if the polygons are similar. Defend your answer
using algebra and appropriate vocabulary.
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Version A

|
3. Carla and Moses are mountain rangers and are hiking to estimate the height of a nearby hill. Carla |
stands 5 meters away from Moses on level ground holding a stick vertically. Moses finds a “line of |
sight” to the top of the hill, and observes this line crosses at 2.4 meters up on the stick. The distance
from the stick to the top of the hill is 1500 m (as measured by laser equipment). Diagram NOT to scale.
Show your work using methods we explored in class to find the height of the hill.
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3. Carla and Moses are mountain rangers and are hiking to estimate the height of a nearby hill. Carla
stands 5 meters away from Moses on level ground holding a stick vertically. Moses finds a “line of
sight” to the top of the hill, and observes this line crosses at 2.4 meters up on the stick. The distance

from the stick to the top of the hill is 1500 m (as measured by laser equipment). Di
Show your work using methods we explored in class to find the height of the hill.
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3. Carla and Moses are mountain rangers and are hiking to estimate the height of a nearby hill. Carla
stands 5 meters away from Moses on level ground holding a stick vertically. Moses finds a “line of
sight” to the top of the hill, and observes this line crosses at 2.4 meters up on the stick. The distance
from the stick to the top of the hill is 1500 m (as measured by laser equipment). Diagram NOT to scale.
Show your work using methods we explored in class to find the height of the hill.
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4, In the given figure, DE =9 cm. ABAE hasarea 12 cm2, CBED has area 180 cm?. Find the length of AE.
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[ 4.In the given figure, DE=9 cm. ABAE has area 12 cm2, CBED has area 180 cm?. Find the length of AE.
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5. In the figure, the right triangle A 0AB has 04 = 2 and AB = 1.
Also, A 0AB~ A OBC~ A OCD. Find the length of CD.
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5. In the figure, the right triangle A 0OAB has OA = 2and AB = 1 D
Also, A OAB~ A 0BC~ A OCD. Find the length of CD. X
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1. Solve for x:
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2. Determine if the polygons are similar. Defend your answer
using algebra and appropriate vocabulary.
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Version B

2. Determine if the polygons are similar. Defend your answer
using algebra and appropriate vocabulary.
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2. Determine if the polygons are similar. Defend your answer
using algebra and appropriate vocabulary.
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Version B

3. Carla and Moses are mountain rangers and are hiking to estimate the height of a nearby hill. Carla
stands 4 meters away from Moses on level ground holding a stick vertically. Moses finds a “line of
sight” to the top of the hill, and observes this line crosses at 4.2 meters up on the stick. The distance

from the stick to the top of the hill is 1500 m (as measured by laser equipment). Diagram NOT to scale.
Show your work using methods we explored in class to find the height of the hill.
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4. In the given figure, DE =8 m. ABAE has area 15 m?, CBED has area 120 m?. Find the length of AE.
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4.In the given figure, DE =8 m. ABAE has area 15 m2, CBED has area 120 m2. Find the length of AE.
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Also, A DAB~ A OBC~ A OCD. Find the length of CD.

5. In the figure, the right triangle A OAB has OA = 2 and AB = 1.
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